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Which of the following are the learner related
factors in determining effectiveness of \'V
teaching? ~

fosrs @1 gerfa w faun @y fom /S{L/
ﬁw%rﬁaaﬁﬁa%mawﬁweﬂmaﬁqﬁ

\P{Task relevant competencxes of learner
AferTRatatl & FE-TId gemde

(B) Content mastery of the teacher
fReren sl fawa axq g
(C) Choice of teaching methods
fereror ggfoat s fasweu
(D) Composition of the class room/aell &l LT
) Readiness level of student/faanfdidi &1 dcatar

Choose the correct answer from the options
below.

T=Aferfiaa faseat o O 10T 3HY -
(a) B and C/(B) 3R (C) \/

@) A and E/(A) 3R (E) )

(c¢) Dand E /(D) 3R (E)

(d) B and E/(B) 3 (E)




For organizing effective teaching learning
syvstem in colleges which of the following
instructional strategies may be considered
appropriate?

T o raror- s gomst aRt garelt s=1Y
=% Tog afafaa 37 9 == @t sagessma=s
vor=Hifear =rerf=r= srfir-

(A) Replacing lecture work by computer aided
instruction/aFEATT 1A H1 sHhd=L =h ATAT H
(BY Attuning teaching in terms of can do/will do
analysis in respect of students' readiness level

faenfef=ai = Icatar @< =T Hohdl ©
(FF By=H on (faa 5) F sagar fBEger =0
AgGHh<T JATAT |

(C) Introduction of Bio metric based attendance

in the class/&=IT # =raEfess zarenfia sgafz=fa
T IEIATT HLAT

(Ip) Diversifying teaching methods in terms of
learners’  nccds =l  HATGsdhdl <h

sAgEE fRregor gsfa=ai =6 Igfaga 9T
E) Involving students, giving responsibility and
recognizing the accomplishments

H1 SO Aacd SahL aAT AT Eah<

fa=nfei=i =1 dfera_ s

Choose the correct answer from the optipns
ziven below.

fareseal 3 &t ST o1 oS3 .
a) (B). (D) 3T (EY(B). (D) 31T (E
(b) (A), (B) 3T (C)(A), (B) 3R (O)
(c) (B). (C) 3T (D)Y/(B), (C) 3T (D)
(d) (C). (D) 3R (EW(C). (D) X (E)




The research form which will be fit and (@
appropriate for improving efficiency of
formative assessment would be:

frmioere gowie &t meT § guUR & fog
ffefiga & @ & 91 I Weg aufad
gr?

(a) Fundamental research/Aifelss e

(b) Applied research/&dzgd I
(c) Action research/fsharie Yy \/

(d) Ethnographic research/Jsd oM




)

Set/A= - Set/A=-11
(Terms used in (Description)
research)
a) A postulate 1) It causes obtained results
sAfagron to wvary 1In a particular
direction

T g gftone SEE
fafere fesn & gfiafda s
ZI

b) A construct

It is something which can
change either guantitatively

or qualitatively
ER3ES]

HEATHRAD AT IJUTIcH <RI

H giiada 81 9=hdl 2 |

It 1s the statement of the
principle assumed, in the
absence of direct evidence

I8 uogEl "ieE =hi =hHl =h

sHoT A=A It agra =et
faaor 2

d) Systematic [/
errors

=afiera Fgfe

Though not directly
observable, 1s considered

tDBXJSt
TJafa =g goger w4 £ |

STaATHATE 8T & dona o=
afza= A ST 21

Select the correct answer from the following

options.

= fassearl ¥ O 31gar 9T <=J:

(a) A-1, B-11, C-111. D-1wv
Ab) A, B-iwv, C-11, D-i

(c) A-11, B-1, C-111, D-1wv
(d) A-iv, B-ii, C-1, ID-11



: : ( »’
A university teacher conducts research study\ ‘S

where lecture cum demonstration method is
used to assess the effect on students' level of
participation in terms of the socio economic
status (SES) of their family and its habitat.
Which variable in this study will be called an
independent variable?

fagfaama= & uas Orares = vier stema= faman
5aa feenfefant & gl 26T S99 3maa &6
qraThaeh-3Tfeieh T (SES) o 3T9@R 39ah!

TEaThiEaT &= TRt a3 &
AT 3 AT H foRw =X =HdaA a7 <hal

?
(;E Lecture cum demonstration method 3
ANST-98 9839 dgfa T——

(b) Students level of participation

faarfdai s weafiar ©x
(c) SES of their family

39 gftar &1 gmfses-anfds @ (SES)
(d) Habitat of the family/9RER =1 HEH

V

2



When a researcher rejects the 'Null
Hypothesis' (Hgy) in his/her study and accept an
Alternate Hypothesis (H,), what type of error is

likel
Gllaeb?;ﬁévﬁua-ﬁrf ‘rua sremEa W' et

aRehed=T (H,) e & dar 3 3 dehfeush
UReeaar (H,) ol e iar § af 3ad fehd
YehTT aht AfS Shl HHTAAT & Hehdl &7

(a) Type I error/2184 I 3¢ ./

(b) Type Il error/2759 11 ':Ti?
(¢) Both Type I and Type [I error

il 2139 131 11 &6t 72
(d) Neither Type I not Type Il error

:fa’ragqlamqasqllaﬁgf?




In which research design, the independent\ ™\
variable is rather than
"'manipulated'?

form e stfisRew (festga) ® =1 &t fasmn
& & 30T =g’ foRar Sirar 87

(a) Experimental research design —\

viter sHfirpen \'s
Jb) Historical research design — W
_ Ufeitaes Iy e et

¢) Ex post facto research desi
e o s ) N

(d) Descriptive suw% research design
Ui Fdequl

Y 3fYhHey




v J
Inappropriate application of ICT in research 1S Q /

an example of:

IEr § :gg_'{:ﬂgt & o E@w ISTEUT &7

(a) Technical lapse on the part of the researcher @ﬂ'
NIECT e agr{ T qehla g

(b) lnadeq'ua(e pro_wsmn of ICT resources
MU HETEAT T 3UITd JTaH=
(¢) Violation of research ethics

e Afaar &1 3eced

\9{ Absence of technical experts of ICT resources
HEEET HHEAT F AR faeesar &1 A9

)

@




Communication skills of students can be

m%mvmv%m STt feEaet wEEar |

HERT ST ol &:
(1) Asking general questions/HH H39 TS
(11) xposure to new technology

T2 eIl & g H ae

\y() Fostering critical thinking
THteTeh A & IeRar & Hafta &l

\y{) Discriminant use of vocabulary
visaIgelt ol fades suam gfafag &
(v) Limited listening/®Hd Sa0T g
Choose the most appropriate answer from the
option given below:

= fou v fawmedt ° WET 39T &1 I99 Hitu:
a) (1), (ii) and (iii)/(i), (ii) 37 (iii)
¥ (11), (111) and (1v)/(11), (111) 3R (1v)
(c) (i1), (iv) and (v)/(ii1), (iv) 3R (v)
(d) (i), (iv) and (V/(Q), (iv) 3 (v)

&



C \/ \- 21~
Structured classroom communication can be wq,.
categorized as @ /
HAfLeTd HelT-TUHUT ekl gl ST Tehdl §-

(a) Inter-personal communication/37: Gafthd 0T

(b) Vertical communication/3tafeR HIwoUT

&Y Group communication/ 8T HYTH~
(d) Cross-purpose communication/SasH T4 TR




For effective communication inside a
classroom, a teacher should embark upon

FHAT W Ueh WHTet TUN0T g 18T ...,
ST I[R3TA hiAl ATRU: @
(a) Ideological Ieaningsﬁﬂﬁ?ﬁ gehid

(b) Innuendos/s7aifE

(c) Issuing attention commands

(\d} Listener analysis/9dr dai &1 fagemo




The next number in the given series is @

fear = sy o st Wyt o/ gift?
190, 384, I3 srisisssrnns

(a) 1344/ (b) 1244

(c) 1434 (d) 1544

-w\(‘w/\; ﬁ/\:—/)L ‘/




Find the missing letters in the series:
fear & O oW 38 & T §:
BCA, YZX, EFD, ............., HIG

(a) UVW (b YWU D

(c) WWU & (d) VUW

por”




Vinod's mother-in-law is the mother of Amit's
mother-in-law. How is Vinod related to Amit?

fole & wE s @ W@ @ °f §1
AT W HH Hafird §7?

(a) Vinod 1s brother of Amit/faaTg 31T &1 98 @
(b) Vinod is father of Amit/femg 21t & fomr 2

(¢) Vinod is uncle of Amit/fadie s1faa =1 =men @

(d) Vinod 1s father—lgﬁ_w of Amit N
fei sifid @1 W e | M




In a certain code, FISH is written as EHRG.
The code for JUNGLE will be
& Afya &e W FISH @ EHRG forar smar 81|

JUNGLE & fe1q she o= girm?
(a) ITN (b) KVOHMF
mﬁh () TIMFKD
\S €
W
‘5’ \ >\ A\ v =




63% of employees in a cbmpany are female. If
the number of male employees is 111, then the
total number of employees is

fordt Shu=t &T 63% THHTRT AfgeTd g1 Afe gew
wrefEt # TE ()T, A wHeiat @ we
e forat 87

(a) 270 (b) 290
(d) 310 ( \&)

&3 Y o \
S S PSONSY



N\ )
"Everyone believes that there is a s%ﬂ./

Therefore, you should also believe it." This
inference commits which kind of fallacy?

"yl SAfvh WIHAT § Sl STTEAT §1 3Tuehl off 3
WA ATfel’ 39 9= W o Yo o1 g &7
(a) Ad hominem/Ug gIfi=A o
(b) Ad populumf@'&' BRIk L /

(¢) Fallacy of Accident/3ucieior/3qrfer g

(d) Fallacy of Ambigllityfq\dqﬂdu Y




"God i1s great because He does great things". \/
This inference commits which kind of fallacy? E"‘VJQ,

@ﬁ@m%ﬂmﬁlw \,
A | R gehr At ?
(a) Ad populum/ﬁ,_er Wﬂﬂ ¥

(b) Fallacy of Composition/d5g/Hefd qIY
(c) Fallacy of Division/fa#R—aN 4
(d) Petitio Principii/3TeA1sd &N \/




Anil's participation in classroom is indiffereni@
His parents do not find him to be active either.

But his performance in examinations, ranges \/
from being good to outstanding. Therefore, he
must be studying privately, in a clandestine
way. This is an example of which kind of

Pramana?

HATH | AT i chEHEICE B CD
wrar-faar off 3@ otk Adt wad {1 wig when
# IHEHT YIITT GTEST W oot 3ohE I &1 31
o% Uch | Uchid W WX U@l \}}lm ug Tord
WahTT oh WHTUT ShT ISTE0T &2

(a) Upamana (Comparison)/39HT

(b) Anumana (Inference)/3¥FHTH

(¢c) Anupalabdhi (Non-apprehension)/33J9¢l
(d) Arthapatti (Implication)/312Taf




The distinction between purvavat and sesavat
is made with reference to which of the

following pramanas ? .
Prafofad o & fom ARl o

3T} Ve et 3ty feran Ny ,
(3) Anumana (Inferﬂnce)m—f@ v O
(b) Pratyaksa (Perception)/Scd&] — b o N

(¢) Comparison (Upamana)/39H
(d) Abhava (Absence)/314Td




<Pf
Which sentence cannot fit into thQ

framework?

ﬁ?mqwéaﬁ mﬁmwﬁa’r ’(\V
(a) @salt has 10dine @O

ot 99§ 3 8t @ 2

(b) The salt on the table has mdme

(W @ T § e ) /
(c) All salt has mdmem'*ﬁ T6 § AEEH @
(d) Some salt has mdmef@%s' THS f{ aqﬁré\:r g

<

J1 ¥



No. of Compunrars

Data in respect of Demand and Production of The ratio of the number of companies having

Computers of five companies. A — E are shown more production. Gan denant to that of
companies having more demand than

in the figure. Based on the data, answer the production is
questions that follow TRT hi G-T W 3feIeh ScIg— daIetl shui-&i ohi
l’ﬂmputem Demand & Production HE aﬂ—{ SIS ® 3fireR Wi areft shufra
2500 ht HEAT <kl 3TUTC @ :
To0n f-mn (a) 3:2 — (b)_L
D (c) 4:1 (m
1500 1145 V
1000 v g_
I I Iquu 60¢ ( =z e
S0 304 Q>>¢ . 22
n 1N } | Xk

D E
‘/ \/ mﬂll’fnmp.mh \/ \/

® Number of Commputers Demand  ® Number of Computers Production

A-E Ulel &hufral o el @t Wi 3R
IqE Uefid INfeke Hrer 29T T §1 3w
3TTehel o TN WX 26-30 & =& yoAt & I
difsru:




No. of Compnrars

Data in respect of Demand and Production of
Computers of five companies. A — E are shown
in the figure. Based on the data, answer the
questions that follow

Computers: Demand & Production

I
2000

2000 1650
140 2% 1351
1230 lll}l}
10400 D
S0 31}#
u - __ . —_——

Nann e ol Com paanies

® Number of Commputers Demand  ® Number of Computers Production

A-E Ul wufrat o el @t Wi 2iR
I et affwg el Qe T §l 3
3Tfehel o MR T 26-30 & T woai o I
difsu:

Which company has l\ni/nimum demand to

roduction ratio?
Fam HUAT @ T aﬂ'{ SdEA 1 U

A &7
(@B

(b) C
(d) E




MNo. of Compnrars

Data in respect of Demand and Production of
Computers of five companies. A — E are shown
in the figure., Based on the data, answer the
questions that follow

Computers: Demand & Production

25410
2000
2000 T
1 1250 o llﬂ[}
1040 900
1000
=0 '*mﬁ
n = _

Nann e ol Com peanies

® Number of Computers Demand = Number of Computers Production

A-E UfS hufeel o el @t Wi i
IR Hefd 3Mferg el Iuiu T gl 3
3Tehgl oh MR W 26-30 fe& & yoat & I
CUELE

The difference between\akferage demand and
average production of computers of all
companies combined together is

Tah 9T Gt shufat & Shegedd &t 3iad |

3T 3T IS AT 3T :
(a) 950 (b) 190
(c) 180 (d) 850

34



No. of Compnrars

Data in respect of Demand and Production of
Computers of five companies. A — E are shown
in the figure. Based on the data, answer the
questions that follow

Computers: Demand & Troduction

2500
2000
20400 1650
1300 1250 1350 llI]{}
1040 200
1{H0
&[] Hl#
n — _ —

Nam e ol Com paanies

® Number of Computers Demand  ® Nwmnber of Computers Production

A-E Ufe hufat o wmEedl @i Wi 3iW
IUEA Weldd 3erg el oniw ™ g1
TRl o MW U 26-30 fo& T3 woai & I
difra:

The demand for compﬁtérs is less than the
production of computers in how many
companies?

SIS hi WA 39k SdIg oh WUl Teha-r
Fufrar & & §7

(a) 4 (b) 3

(c) 1 (d) 2




No. of Compntars

Data in respect of Demand and Production of
Computers of five companies. A — E are shown
in the figure. Based on the data, answer the

questions that follow

Computers: Demand & Production

IM

2000
140
1500
104000
1000
n —

1230

a6
'*N}'HI

Netm e ol Com paniss

1351

1650

lll]{}

® Number of Computers Demand  ® Number of Computers Production

A-E Ul HUET o &EEEH ol WAT 3N
IAES Hefdd Mg el gt & g 34
3TfeRgl oh TR UT 26-30 & T wo=t o I

it

The demand of comput\é-;s of Company D is
more than that of the demand of the computers

of Company B by
SHUAT D o hedl okl UNT U=t B & Sheled

ﬁmﬁmﬁaﬁm%

(a) 1.5 times/1.5 -1 (b) 2 times/2 I
(c) 2.5 times/2.5 AT (d) 3 times/3 AT




The term Plotter is best described as.

\/\\

Wﬁtﬂﬁ—ﬁfﬁﬁ—?ﬂ%méﬁmaﬁﬁaﬁh%’

(a)

(b)

(©)

(d)

An 1nput device to produce good qualit
graphics/3T<S1 UGl b AT S04 %

areil 5492 fearsa
An output device to produce drawings

graphics/STET 31X Ifhag Y= KT drail
32 ge fea=sa

A fast storage device for Stonng good qualit
graphics/3Te1 TUTET a1t AMfhad o HASOT

foo a1 TSz=gor fearsyg
A multipurpose device for taking inputs as
well as outputs/g449< % HT-9rey SEISTOAS () <SG

&+ o Igzs e fearsy




E-commerce involves buying and selling of:

s-amd W frafafiaa o feraent farsrer

Tt &7
(a) International goods/3T=TUEA a&d
(b) Electronic goods/gciazif-ieh a&U
(¢) Products related to computers
HIET G Gafdd 3aTg
\(d/’ Products and services over the Internet
geE W 3dE Ud Had

——




Given below are two statements, one labelled as
Assertion (A) and the other as Reason (R):
MfIHAT (A) T 9k (R) 9THeR S sheard =X
fea = € -

Assertion/3TTTeheA (A) :

An Intranet 1s a private network for sharing
computing resources and information within an

organization/gge fHdt dmza & o dfisas
Oy 3R g9Aar &l 9= w4 & fag uew fash
deas 2

Reason/deh (R):

Intranet is private version of the Internet

gZTHe g2 T fIsit ThoT 21

In the light of the above two statements, choose
the correct answer from the options given below

SUAThH heTAl oh TTelleh H Tl fashed = -

(a) Both (A) and (R) are true and (R) 1s the
correct explanation of A)/(A) 3 (R) AT TET
g a1 (R) (A) T T&T AT 2 |

(b) Both (A) and (R) are true but R) i1s not the
correct explanation of A)/(A) AT (R) T TEr
g 9 (R) (A) T T =amear 8 2|

(c¢) (A) is true, but (R) is false
(A) T& 2, |fpa (R) Terd 2|

(d) (A) is false, but (R) is true
(A) TTad 2, dfehT (R) T&T 21




Which of the following devices allows a user to
copy an external document and save it in
electronic form on a computer?

frefafad T O A 9 SUGIUT TAITRIST hl
TEES Sl HUT & T{a T HEET U

SO ((-Teh &0 T GUTd i ol aF-l‘ElﬁTéHT%7\\/
(a) Spammer/@ﬂ? (b) Scanner/&hTR

(c) Printer/fSeX (d) Plotter/=ieY
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